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1. 7 1 [15.[3x<6 1
900 x 100 1 <2
= {2,1,0,-1,...} 1
2. 2 16. X 2
A — B Vv
v
3. |Va=x—-y 1
a=(x—1y)? 1
4. | 1 6 1 |17 5x +30° = 180° 1
2-6 2 1 x = 30° 1
64 18. 3
5. | (x=7)(x +3) 1+1 7 % 2000
6. |15x60 1 1500 _
=900 m 1 50
7. |40+n 1 [19.(x2—x—-20=ax?+bx +c |1
5m 1 a=1b=-1,c=-20 1
8. | a®b? 2 |20.]1. 2x+60°=180°
9. _ 4 1+1 x = 60°
y= gx -1 5 360 —6 1
10. | 22 1 60
7 lttaxis 1 |21 1000000 1
44 + 28 =72 cm W=ZUCTTI
11. 8<V80<9 1 |22 12+8+x+5+10 1
=12
8.9 1 5
12. | a =759 b = 609, c = 45¢ 2 x=25 1
13. | 38.5x360x7 1 23, 4x + 2 — 3x 1
T 22x14x14 1 — 5 1
= 2259 x=4 1
14. 13 2 [24.] y=45° 1
4 x = 180° — (65°+459)
x =700 1
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222 2 |3 [j1250%x2=1625 1+1
49 1 ? 1 lgg

i 3418 iii. 1560 — 0250 = 310 1
"9 9 9 310

1-8=3-12 3 o0 X 100 = 24.8% 1+1

11 423 03 iv.144 X 4 = 576 1
NS3— 3 T2 " 12 576 1+1

4 12 12 222 % 100 = 8%

300 x 12 = 36001 3 7200 0

i.14><%=7m 141 |4. |a.i.23=8 2
ii. 14 X 21 = 294 m? 1+l il. 5 2
122 _ 385 m? b.i. {1,2,3,4,5,6} 2
lii. XTX7X7=385m 141 ii. A = {2,4,6)
iv. 294 — 38.5 = 255.5 m? P 3 1 2
v.%xe%x'?:llm 1 . ()_g_f

12 pillars 1 i === 2

5. |i.90° + 30° + 2x = 360° 1
x =120° 1
ii.15x4 =60 2
iii. 15 x 12 = 180 2
iv.180 — 20 = 160 2
40 0 — gq0 2
— % 360° = 90
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| 1 |2 2[4 [i(x-4)x+3) 1+1
4 |1 i.(a+b+3)a+b-3) 1+1
N iii. (@+b)?>—(a+b) 1
ii. graph. . :: (a+b)a+b—1) 1
ii. a)x = iv.(x + )% = x% + 2xy + y? 1
b) > 1 2 & —

22 0r2.3 1 x“+y“=1-2xy 1
Z]Jf'_;r 2 8 (x—y)2=1-2xy—2xy 1
)y =5-x"~ 5 =1—4xy

y=-x"-3 . =14+8=9 1
i.a. 1800 X 4 = 7200 3 |5 [ -3 3
-5
b. 7200 X === = 90000 3 i, x = 4y i
i, x X —xX3+x = 68000 x —y =150 )
63000X100 y =50

I=T=50000 4 x=20 2

wombLpt 20 @amiwumipd 50 | 1
1.2x+3 = 2 |6 [a)i 3
2.x(2x +3) = 2x% + 3x 2 i. 180° 1
3. 2x2+3x =x%2+40 iii. 0600 2
x*+3x—40=0 2 b) i.500 X > = 1250 m3 1
—_ 2

4'(’“;)(3%(1; >) = 0 ; = 12500001 1

B 1250000 _ 7500 Minutes
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07.i). 500,600,700 (2) PEpuEERA)
ii). To=100n+400 (3) é;;_cifmﬂ
). To=100x 10 + 290 1) ;ﬂ;CﬁBE, ACJ/CF . CF//BE
=1400 (1) ..BECF @ @enemayom@Ld (5)
iv).1600=100n+400 (1) 11). 2) a=40° (1)
1200=100n (1) b=180-135=45° 2)
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AQ (1) ASD = BPC (90°
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PQ (1) i. . AADX= ABYC ( Gsn.8amu) (2)
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QUL LD (2) DX+XY=BY+XC (Get.2_)
09) a) =25=64 log,64=6 (2) DY=BX
b) logur2=1 2) BX=YD )
c)lgx=1g5.432+1g98.91-1g379.1 (1) ) PRQ=2a
=0.7350+2.9952-2.5787  (3) QPR+ PRQ = 3a
11515 (1) QPR=3a-2a=a
x=antilog1.1515 5a=180° M
x=14.18 (1) asd
10). a) x=6cm, y=7cm, a=500 (2) /QPR = 36° O
b)adj ussmsear e 3) - 20
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